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DIPLOMA IN VALUE ADDED PRODUCTS
FROM FRUITS AND VEGETABLES (DVAPFV)

Term-End Examination

December, 2015

BPVI-002 : PRINCIPLES OF POST HARVEST
MANAGEMENT OF FRUITS AND VEGETABLES

Time : 2 hours Maximum Marks : 50

Note : Attempt any five questions.

1.  Define the following (any five only) : 2x5=10
(a) Selection
(b) Pre - Cooling
(c) Climatic Fruits
) Jelly
(e) Physiological loss in weight
(f) Curing
(g) Ripening
(h) Cleaning

2. Define palletisation and what are their
advantages. 3+7=10

3.  What are the different treatments to extend the 10
storage life of fruits and vegetables ?
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5. (a)
(b)
6 (a)
(b)
7. (a)
(b)
8.

Define the following : 1x5=5
(i) Agmark

(i)  Relative humidity

(iii) Freeze injury

(iv) Sorting

(v)  Freeze drier

Enlist the low cost storage structures. 1x5=5

What are the types of markets ? 1x6=6
List out any two of each climatic and

non - climatic fruits. 2x2=4
What is slow and quick freezing ? 1x7=7
Types of heat applications. 1x3=3

List out various agencies/sources through
which the market information in India is
available, 1x6=6
List out important chemical preservatives
under the PFA rules/now Food Safety Act
of India (FSAI). 1x4=4

Define the dehydration process and list out the

unit operations/steps/ processes for dehydration
of Banana and Aonla. 2+8=10
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4. (a) RwIfYE HIfC - 1x5=5

() e
(i) wTfEE e
(iii) fem afa
(iv) P
(v) o7 g
() 7= @ ger wyEARt ® geeg
it 1x5=5
5. (a) IR fFad R F O 2 1x6=6
(b) =l Q-3 STetamEta @ik i - SeramEEE T
! fafau) 2x2=4
6. (a) W< 3R e ferfieweo w2 1x7=7
(b) AT STIHANT & YRR ) ferfm | 1x3=3

7. (a) WA H SR gE A fafay oifaae
T W SYAS FAA T ¥ 7 g IRy 1x6=6
(b) TR FEE /adAm ¥ wRa @ geen
Afufrm (ThTTa) & simta Tyt
TETAfTe 9fRarhi S geteg St 1x4=4

8. ﬁﬁmwmﬁqﬁﬂﬁmﬁmaﬁ?waﬂ?
aﬁm%ﬁﬁm%mwm/wﬁ/
TohHI 1 GEteg i 2+8=10
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